[lepumeTp NpAMOyrosfibHMUKa

P = ata+B+B
P=(a-2)+(B-2)
P=(a+B):2




[lepuMmeTp KBagparta
P = at+at+ata
P=a-4



[1py YMHOXeHUU
1 Ha nboe Yncno
norilydaeTcs 3TO Xe
YyUucno.

1-a=a



[1pU YMHOXEeHUM
0 Ha noboe uucno
nony4vaeTtca 0.

D-a=0



2 — nNepBbIN MHOXUTENDb
3 — BTOPOU MHOXMUTENb

6 — npousBeneHue
(2.3) - nponsBepeHue



5+4=9

5 — nepBoe cnaraemoe
4 — BTOpOE cnaraemoe
9 — cymma

(5 +4) - cymma



8—-2=0

8 — YMeHbLllaemoe
2 — BblyuTaemoe
6 — pa3HOCTbL

(8 — 2) — pa3HOCTb



OT nepecTaHOBKW
MHOXUTEeneun
npounsseneHue
He U3MeHSAeTCH.

d-B=B-.-d




3:2=4
8 — nenumoe
2 — aenuvuTenb

4 — yacTHoe
(8 : 2) — yacTHOE



Ecnv npousBeaeHue
OBYX MHOXUTeNen
pa3fenntb Ha OOUH U3
HUX, TO NOJTYYUTCA
APYron MHOXUTenb.

4.2=8 8:2=4 8:4=2



Pa3HOCTHOe cpaBHeHue yncen
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KpaTHOe cpaBHeHue yuncen

a>e?pa3 ()
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